
 
 
 
 
 
 
 
 
 
 
 
 
 

LIQUID LEVEL INDICATOR 
RT180 

 
 
 
 
 
 
 
 

 
 

 

® 



BONT Technologies   RT180 
 

Liquid Level Indicator 

 

 

 



BONT Technologies   RT180 
 

Liquid Level Indicator 

 

 

 
 
 
 

 

 

 

 

 *Item quantity changed according to indicator size.   
 
 

 
 

ITEM NO.  PART NUMBER  DESCRIPTION  QTY*  
1  1000072-72  STAFF GUAGE BOARD  6  
2  7000414  WEIGHTED FLOAT  1  
3  7000478  CABLE TENSION ASSEMBLY  2  
4  1000077  COUPLING BRACKET  1  
5  7000019  SHEAVE HOUSING  2  
6  1000010  1" X 3" THREADED PIPE NIPPLE  3  
7  1000006  1" UNION  3  
8  1000067  1" X 24" THREAD PIPE NIPPLE  1  
9  7000018  TARGET  1  
10  7000412  FLOAT CABLE  1  
11  7000006  WIRE ROPE CLAMP  3  
12  1000068  TANK BRACKET  1  
13  1000089  STAFF GAUGE CLOSURE BRACKET  1  
14  1000084  RULER BRACKET  2  
15  1000083  TANK BRACKET EXTENSION  5  
16  1000787-05-16  5/16" HEX HEAD BOLT  56  
17  1000794-05  5/16" HEX NUT  14  
18  1000793-05  5/16" LOCK WASHER  14  
19  1000791-05  5/16" FLAT WASHER  14  
20  1000720-01  WEIGHTED PLATE  1  

 



BONT Technologies   RT180 
 

Liquid Level Indicator 

 

 

OUR CUSTOMER REFERENCE 
 

 
 
 
 
 
 
 
 

  
 

    

  
  

  
  

 
   

  
 

 

Distribute by, 
 
BONT Technologies GmbH 
Salzstr. 1       21335 Lüneburg 
www.bont-tech.com | info@bont-tech.com  


